Viking

Motorgartengeréte / Zubehoér Motorhacken / ACP 600 Frontgewicht
Stiickliste (1/1): A - Frontgewicht

Art.Nr.

Artikel

Bild-Nr.

Stk-Zahl

6906 710 2520

Benennung:

Frontgewicht

—_

6906 716 3410

Benennung:

Platte

9291 020 0220

Benennung:

Scheibe 13

9210 261 1400

Benennung:

Sechskantmutter M12

6906 710 9500

Benennung:

Spannschraube

9007 319 1990

Benennung:

Sechskantschraube M8x70

9291 020 0180

Benennung:

Scheibe 8,4

9211 260 1300

Benennung:

Sechskantmutter M10-17H

9008 319 2450

Benennung:

Sechskantschraube M10x45

[(o] Kool BaN]Ke>] K, | IE-N FON] N \N]

6906 740 0210

Benennung:

Konsole

9008 319 2930

Benennung:

Sechskantschraube M12x20

9212 260 1100

Benennung:

Sechskantmutter M8

6906 716 2500

Benennung:

Halter

2SI =B I NDW ]~

KissInfoTec, 29.10.2018




Viking
Motorgartengeréte / Zubehoér Motorhacken / ACP 600 Frontgewicht

A - Frontgewicht

Stiickliste (1/1)

OO DWW 1300 906

KissInfoTec, 29.10.2018





